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1.

10.

11.

12.

13.

14.

15.

Mr. Lee couldn’t drive his daughter to school this morning but called her a . It cost a lot.

(A) plane (B) bus (C) taxi (D) bicycle

Every child gets a chance to choose one toy from their box. They only need to line up and for their turn.
(A) go (B) wait (C) notice (D) watch

Ina game, each player tries to get other players out of the game by throwing a ball at them.

(A) soccer (B) basketball (C) volleyball (D) dodge ball

Time for dinner! The soup is boiling. Before you move it to the kitchen table, don’t forget to put on the

(A) gloves (B) socks (C) shorts (D) jacket

Ben : What’s wrong with you?

Tim : | hurt my when sleeping last night. | can’t even turn my head now.

(A) eye (B) foot (C) neck (D) knee

Because of the bad weather, the airplane we are taking is above the airport, looking for the right time
to land.

(A) walking (B) circling (C) sailing (D) diving

| wasn’t feeling well because something was wrong with my lunch, so | hurried to the

(A) dining room
Wayne : Why didn’t you order

(B) living room

(C) balcony (D) bathroom

? | thought it was your favorite.

Kevin : It is. But the doctor said | shouldn’t eat something with so much oil.

(A) fruit salad

My best friend and | share the
(A) ups and downs (B) in or out

If we believe tomorrow will be better, we can

(A) laugh (B) catch

Mark : ? Maggie : Mr. Green does.
(A) What is over there

(C) Why was he late

(B) fried rice

Dan : Patrick showed me his smartphone just now. Tim :

(A) How was it? Cool?
(C) OK. I will buy one tomorrow.
Justin : Welcome to the party, Mandy.

(C) orange juice (D) strawberry ice cream

in life, the good times and the bad times.

(C) cats and dogs (D) rain or shine

the difficult things today without losing heart.

(C) bear (D) fly

(B) Who is unhappy
(D) Who teaches you English

(B) I don’t have my smartphone with me.
(D) Where did you buy it?

Mandy : No, not yet.

(A) Did you come here by bus?

(C) Have you met my parents yet?

Max : Could you please pass that dish to me?
Tony :
(A) Sure, no problem.
William : Sally is like Susan.
Larry :
(A) They like each other.

(C) Yes, they all like to play the piano.

(B) You're welcome.

£1H

(B) Are you happy to be here?
(D) Is your sister with you?

(C) Yes, | do. (D) Not any more.

(B) I like her, too.
(D) Of course. They are twins.
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16. Vivian: What time is the concert?

Willy:

(A) It’s six. (B) It’s at six.

(C) It's on Saturday. (D) It's wonderful.
17. Let’s in class. Please be quiet and stop making noise.

(A) talk (B) talking (C) not talk (D) don’t talk
18. Cathy: Who knows Charlie?  Lucy:

(A) I know. (B) I do. (C) Mary is. (D) Mary knows.
19.George plays basketball for two hours .

(A) in a week (B) atthat time (C) just now (D) on weekends
20.The flowers in the garden really beautiful.

(A) is (B) are (C) be (D) am
21.There are birds singing over there.

(A) many of (B) any (C) lots of (D) much
22.Sabrina: are the apples?  Vendor: Two for fifty dollars. Buy ten and get one free.

(A) How much (B) How long (C) How often (D) How many

23.Rita didn’t eat anything for dinner because she was on a diet.
(A) Rita was on a diet, but she didn’t eat anything for dinner.
(B) Because Rita didn’t eat anything for dinner, she was on a diet.
(C) Rita was on a diet, so she didn’t eat anything for dinner.
(D) Although Rita didn’t eat anything for dinner, she was on a diet.
24. Choose the correct sentence.

(A) There is a lot of children playing at the park. (B) There are ten fish in the pond.

(C) One of the students are standing at the door. (D) Mom needs many flour to make an apple pie.
25.Choose the correct sentence.

(A) Joe is having a new smartphone. (B) Anna is seeing a bird flying.

(C) I am standing up. (D) The students are having lunch in the classroom.

$ oA 4e (% 26~404E 0 £ 1548)

(26 ~28)
John: Hey, Tina. (26) there in your backpack?
Tina: There is some food for the party at my house this evening.
John: Who’s coming to the party this evening?
Tina: Some of our friends are, like Sam, Joe, Jill, and---.

John: (27) | like parties. What do you buy?
Tina: Cookies, candy, and cake.
John: (28)

Tina: Yes, cola and orange juice.
John: Can | go to the party with my new girlfriend?
Tina: Sure. You two are welcome to my party. Let’'s have a good time together.

26. (A) Are (B) What are ©) s (D) What's
27. (A) That's new to me. (B) That’s great.
(C) Good to know them. (D) Thank goodness!
28. (A) What'’s our friends’ favorite drink? (B) How about some apples and oranges?
(C) Are there any drinks? (D) Are those drinks for everyone?

F2H (#£4E]



(29~31)

Marie: | haven’t handed in my essay.

Winnie: How come? The topic is quite easy for (29) to write.

Marie: | want to thank all of my friends because they all helped me a lot and have had a great influence on
me.

Winnie: But the topic is “The One That Influences You a Lot.” Only (30) can be in your essay. If
you write all the people in i, it's possible that you need to rewrite your essay.

Marie: OK! Maybe | still need a few days to finish (31) .

Winnie: Good luck to you! Remember that the deadline for the essay is by next Monday.

Marie: OK! It won’t be a big problem to me.

29. (A) them (B) it (C) us (D) her
30. (A) one of them (B) several (C) all of them (D) a few
31. (A) you (B) it (C) us (D) them
(32~34)
32. What day was the day before yesterday? .
(A) It was Friday. Today is May 16.
(B) It was the fourteenth of May. Look at the calendar and answer the questions.
(©) It was Thursday. May 2019
(D) It was May fifteenth. MON | TUE | WED | THU | FRI | SAT | SUN
33. When was Mother’s Day in Taiwan? ) ) 3
(A) On May 9.
(B) Five days ago. 4 S 6 7 8 9 10
(C) On May 10. 11 12 13 14 15 16 17
(D) On May 17. 18 | 19 | 20 | 21 | 22 | 23 | 24
34. What was the date two weeks ago?
(A) It was Sunday,. 25 26 27 28 29 30 31

(B) It was Saturday.
(C) It was the tenth of May.
(D) It was May second.

(35~37)

A huge fire swallowed up Paris’s Notre Dame Cathedral on April 15, 2019, damaging much of its building and
causing its spire to fall. According to officials, the roof also collapsed, but luckily the main structure, including two bell
towers, were saved by some 500 firefighters. The fire was reported to be related to a renovation plan on the church’s
spire instead of terrorist attack. “I'm telling you right now. We will rebuild this cathedral all together,” the
president Emmanuel Macron said, promising to look for help at home and abroad.

The cathedral, according to Pope Francis, the head of Vatican City State, is a “symbol of Christianity” around the
world. No other place represents France like Notre Dame. It has stood tall above Paris since the 13th century, much
older than the Eiffel Tower, which was completed in 1889. Notre Dame is a place of peace and holiness, where about
2000 religious ceremonies are held every year. It attracts over 14 million visitors each year, and many have reported
their admiration not only for the religious importance but also for this cathedral’s architectural wonders.

One of the first wonders visitors will see is the two towers of this cathedral, which are 70 meters tall and give
visitors almost full views of Paris. On the building are the gargoyles, the animal stonework, used to send away the
rainwater from the roof. As visitors walk in the cathedral, they will definitely be surprised by the large colorful rose
windows. Many say a visit to Notre Dame Cathedral will be incomplete without taking a close look at them. However,
many of these wonders were damaged by the fire, as Macron called “this is the emotion of a whole nation.”
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35.What is NOT mentioned in the article?

(A) The cause of the fire. (B) The role of Notre Dame.

(C) The history of Christianity. (D) The features of the cathedral.
36.How is the third paragraph organized?

(A) In order of time. (B) In order of class.

(C) In order of space. (D) In order of importance.

37. What can we infer from the article?
(A) Gargoyles are must-see features of the cathedral.
(B) The roof of Notre Dame may be rebuilt in the future.
(C) Most of the visitors come to this cathedral for worship.
(D) Notre Dame may no longer be the symbol of Christianity.

(38~40)

A new generation of “smart” implantable devices could replace traditional medication to treat a range of chronic

conditions, including cardiac disease.

The modern pacemaker is a medical marvel. No bigger than a matchbox, this implanted device sends electrical
pulses to the human heart to keep it beating regularly. Globally, 1.25 million pacemakers are fitted each year, vastly
improving the quality of life for patients whose hearts beat abnormally and restoring life expectancies to normal levels
for some individuals.

While the physical device has steadily improved over the last few decades since the first totally implantable
pacemaker was fitted in 1958, the basic idea behind a pacemaker has not changed. Implanted electrodes monitor
your heartbeat and if it becomes abnormal, the device can deliver electrical pulses to trigger your heart muscles to
contract so they continue to pump blood around your body. Whether you’re asleep or running a marathon, the
pacemaker should keep your heart reliably beating with the same rhythm.

But there are some who think the pacemaker could do so much more. Rather than simply jolting our heart tissue
into action when it fails to beat by itself, implantable devices could monitor and diagnose the signs of disease, help to
manage chronic conditions and even provide new types of treatment that we could simply download like an app on
our phone.

By tapping directly into the network of nerves that run around our bodies, a new generation of pacemaker-like
devices could be used to tackle diabetes, arthritis, and Parkinson’s disease, as well as improve bladder control and
offer better pain management.

“Traditional pacemakers have done a great job for arrhythmia (irregular beat), but they don’t deal with
hypertension (high blood pressure) or many other chronic conditions,” explains Oliver Armitage, co-founder and chief
scientific officer of biomedical startup Bios, which is attempting to create a new generation of medical implants.

38.What is not mentioned in the article?

(A) The size of the modern pacemaker. (B) The function of the pacemaker.
(C) The price of the pacemaker. (D) The year the pacemaker was first fitted.
39.1In the past, who might need a pacemaker?
(A) Someone who loved running. (B) Someone whose heart couldn’t beat regularly.
(C) Someone who had diabetes. (D) Someone who had high blood tension.

40.In what way has the pacemaker become “smarter”?
(A) It can work not only at the daytime but also at night.
(B) It can help treat all kinds of diseases such as stroke or pneumonia.
(C) It improves diseases continuing for a long time such as diabetes or hypertension.
(D) It is much more expensive and smaller than the old one.
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